## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl	•				
□ FEDER	RAL CANDIDA	TE	☑ STATI	E/LOCAL CAN	VDIDATE
To Ava Windo	ail Themselve w, Federal Ca	s of The Low ndidates Mus	est Unit Cha it Sign The C	rge During a ertification O	Political n Page 3
Station and	d Location:			Date:	
I, DIAN	E MARINE	Au			***************************************
being/on behalf	of: LARRY	R SCOTT	···		, a legally
qualified candid	late of the 126P	UBLICAN			political
party for the off	fice of: STATI	E SENATE	DISTRICT	<u> 42</u>	
in the PRI	MARY		WWW		*****
election to be h	eld on: <u>JUN</u>	E 4, 2024	•		
do hereby requ	est station time as t	follows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
, <b>£</b>		ec A;	tache		
Total Charg	ges:				

NAB Form PB-17 Candidates

For programming that, in whole or national importance," list the matte	in part, "communicates a message relating rs below:	g to any political matter of
		Marine Ma
I represent that the payment for th	e above described broadcast time has been	furnished by:
CMS, INC		
	e the time as paid for by such person or en y is either a legally qualified candidate or a ally qualified candidate.	
The name of the treasurer of the ca	undidate's authorized committee is:	
SANDRA BAXTER		
This station has disclosed to me its and discount, promotional and other	s political advertising policies, including: er sales practices (not applicable to federal	applicable classes and rates; candidates).
	ISCRIMINATE OR PERMIT DISCRIM THE PLACEMENT OF ADVERTISING.	
To Be Signed By	Candidate or Authorized (	Committee
	Air. The	<u> </u>
APR 4, 2024 (	Signature	
To Be Sign	ed By Station Representat	tive
Accepted	Accepted in Part	Rejected
0 1/1	0 ///	
Signature	Printed Name	Title

CARLSBAD RADIO, INC PO Box 1538

CARLSBAD, NM 88221

Order#:

P.O.#:

3819-00002

Description:

Larry Scott for Senate Dist.42

Date Entered:

4/5/2024

Salesperson:

Hughes, Don

Invoice Frequency: Billed at end of Media Month, Sorted by Date Nolary Reg'd

Larry Scott for State Senate Dist.42 CMS Connects

On.	-Aiı	50	hed	ule

Stort Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	M	<u>Tu</u>	$\underline{\mathbf{w}}$	Th	£	<u>Sa</u>	<u>So</u>
1 4/5/2024	4/5/2024	KATK-FM	01:00:00p to 07:00:00p	Weekly	1:00	4	11.00	44.00	0	0	0	0	4	0	0
2 4/8/2024	4/12/2024	KATK-FM	07:00:00a to 07:00:00p	Weekly	1:00	40	11.00	440.00	8	8	8	8	8	0	0

Order Start Date: 4/5/2024

Order End Date: 4/12/2024

Spots: 44

Total Charges:

\$484.00

Total Sales Tax

\$35.79

Total Net:

\$519.79

Projected Media Month Rilling Totals for Lar	ry Scott for State Senate Dist42 / 3819-00002:
- Lighting Richia Would Dittail Lyreis for con	y 000tt 101 010to 0011010 = 122 m - 1 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Spot Court

Net Billing

April

2024

44

\$484.00

Confirmed & Accepted for CARLSBAD RADIO, INC By:

Accepted for Larry Scott for State Senate Dist.42 By:

CARLSBAD RADIO, INC

PO Box 1538

CARLSBAD, NM 88221

Order #:

3819-00003

Description:

Larry Scott for State Senate Dist 42

Date Entered:

4/16/2024

P.O.#: Salesperson:

Hughes, Don

Invoice Frequency: Billed at end of Media Month, Sorled by Date Notary Reg'd

Larry Scott for State Senate Dist.42 CMS Connects

On-Air Schedule

 $\underline{\mathbf{w}}$ Total M <u>Tu</u> <u>Th</u> Qty Rate Length Scheduled Time/Event Repeated Start Date End Date Station 0 0 11,00 440.00 8 40 Weekly 1:00 KATK-FM 06:00:00a to 07:00:00p 4/22/2024 4/28/2024

Order Start Date: 4/22/2024

Order End Date: 4/28/2024

Spots: 40

Total Charges:

\$440.00

Total Sales Tax

\$32.54

**Total Net:** 

\$472.54

Projected Media Month Billing Totals for Larry Scott for State Senate Dist.42 / 3819-00003 :

Spot Count

Net Billing

April

2024

40

\$440.00

Confirmed & Accepted for CARLSBAD RADIO, INC By:

Accepted for Larry Scott for State Senate Dist.42 By:

CARLSBAD RADIO, INC. PO Box 1538

CARLSBAD, NM 88221

Order #:

3819-00005

Description:

Larry Scott for State Senate Dist 42

Date Entered:

4/26/2024

P.O.#;

Salesperson:

Hughes, Don

Invoice Frequency: Billed at end of Media Month, Sorted by Date Notary Reg'd

Larry Scott for State Senate Dist.42 CMS Connects

_		C . 1	
Un-	ΑІГ	Schedule	

														_	_	-	
	Start Date	End Date	Station	Scheduled Time/Event	Repeated	<u>Length</u>	QIX	Rate	<u>Total</u>	<u>M</u>	Tu	<u>w</u>	<u>Th</u>	E	<u>Sa</u>	Su	
1	4/29/2024	5/5/2024	KATK-FM	06:00:00a to 07:00:00p	Weekly	1:00	40	11.00	440.00	8	8	8	8	8	0	0	
,	5/6/2024	5/12/2024	KATK-FM	06:00:00a to 67:00:00p	Weekly	1:00	40	11.00	440.00	8	8	8	8	8	0	0	
-	E(43)2024	5/10/2024	KATK-EM	06:00:00a to 07:00:00p	Weekly	1:00	40	11.00	440.00	8	8	8	8	8	0	0	

Order Start Date: 4/29/2024

Order End Date: 5/19/2024

Spots: 120

Total Charges:

\$1,320.00

Total Sales Tax

\$97.62

**Total Net:** 

\$1,417.62

	Projected Media Month	Billing Totals for Larry Scott fo	or State Senate Dist42 / 38
		Spot Count	Net Billing
May	2024	120	\$1,320.00
Total:		120	\$1,320.00